F48O| A EH AR A TRy Tr—BFIEXE

http://www.k3.dion.ne.jp/" tommyh/WJ6P/WJ6P.html

INFE B F28R

F®E)—JHER

201343A21H(Z )

REN—F AR 20134E3 8220 (1)

AT—JL KUGARR—YC| EBAHEHC |&&hvr—sdEm wa| 15| k| 2w
KUGARHK—Y 55T R 617 116/ 1
15 0|2 1

=} 9 — 0 1 — 1
12 o 23 )
$HEHC R 010 - #], 0|0 |23-2s 3
BANE 0 — 9 0 — 4
wteor—2R—ypem L@ 2 O
o= 11,184 — 0], 3l9l2|7]2
EHE 1 — 1 4 — 0
B7—IJL wERRvr—soeE| FEBR)—LX| BHEEEIEB wa| 15| k| me
BERRyy—ZK—y b e 2@ r_@
00—51400—612 0026|263
KERFF 0 — 9 0 — 6
S — o 12 @) 23 [
FER)—LX MEEIr 510 - 3], 316/ 7|92
LS 9 — 0 2 — 4
;%H:ll;'iiig*ﬁB - 6 (_) 0 & 3 c_) 0 619/ 2(17| 1
12 0|7 2
BiRE 6 — 0 4 — 2
cF—IL @NRvr—o57 | ERI7145—X| RER—CX wa| 15| k| 2 | me
@)llkyr—557 w4 v O
s[4 = 1s]715— 1]4 4|12/ 6|61
B! 1 — 4 2 — 0
ERI7M14—R - 2 5 e 3 1]6[13/-7/3
5 5 1 8
R 4 — 1 1 — 5
s o 13 o 23 O
RER—X N K P B R 3lole|1]2
f=HE 0 — 2 5 — 1
DF—IL TAMBA7R—+ X |Hiroshima Buena |EiBF ¥ EA > X wa| 15| | 2 ew
TAMBAR—A X 29O v @
[t ool 40— 1], 3|2(2|0]|2
BUERRF 0 — 0 1 — 1
Hiroshima Buena Vista 2 L 2 O
0 0 — 1 " 2 2 — 0 0 3(2(1]|1]|1
hEE 0—0 0 — 0
WEFYUEAVX O ST Ts o > 3|2[3|-13
— 2 110 2
e 1 — 1 0 — 0




EJ—IL BIHEERT A | error—svem s x| EILR2—5 Y —> wa| 15| K| 2= me
EBEAT AR T L
a1 — % ol71° — 9, 615/ 0 (15[ 1
I E R 2 — 0 4 — 0
Eqtor—osd TR 2 @ 2 @
0|0 —6[g (10— 115 0|1(13]-12 3
BEL 0 — 2 1 — 4
A, L o 23 O
ﬁm1971/00_3751_01 3|5|8|-3|2
EER 0 — 4 4 — 1
FF—IL TRAYr—R9— V| @k —SPEE | BARYr—557 wa| 15| K | & e
AR —RG— I T
210 = 0ol = 1T, 3|2]2|0|2
I B8 2 —0 0 — 1
@il —2k—ybem @ O
ol —0[, 0|0 — 2[4 0|o|8|-8]3
I8 0 — 2 0 — 4
Bakyr—557 O 20
21T —%lol6l2— %, 6(8|0|8|1
KIRAF 1 —0 4 — 0
GT—IL BT SvHE— X | By —SH €M | Echizen HOMES2 wa| | K | 2w
BLITSvIE—2X . 3 O 0 - 0 e 5 3|o|7]2]|2
8 0|1 1
EER 5 —0 1 — 2
. —_ 2w/l 12 . 2 .
wRERyr—AR JMF—F_PIO 0 -3, o]0 — 45 0|0|15|-15/ 3
SRR 0—5 0—3
] 13 O 23 O
Echizen HOMES2 15 =04 17]% - °, 6 [14] 1]13| 1
BHE 2 — 1 3 —0
HF—IL HFRAVYR—A | BBRIkvTr—57 BB FEYFRER wa| 15| K| & | e
e 12 @) 13 O
312 = % olal® — 9, 612/ 0 12[1
BER 1 -0 6 — 0
BRIk —557 2@ —
010 — 2[5 215 = o, 3|7(3|4|2
BIE 0 — 1 2 -0
> 13 23
RBBTEYFRER —; ® 3 5 e 5 0|0|16[-16| 3
0 9]0 7
ERBS 0— 6 0 — 2




17— HalkORF—ve| Bl HR—A X |slityr—s 4 wa| 18| 4 | 2 e
DA LKORK—YH5T 2 O n__@
N NEEKIP 35142
BHIR 2 — 0 — 1
s N 12 ) 23 @
BHAR—(X NP 010 - 6], 0|0 |[16]-16/ 3
EHE 0 — 2 0— 5
YT [ @) 23 O
ﬁﬁﬂﬁﬂw’rxrkﬂ}ir-10_00“6_ 612/ 0 (12| 1
ERBE 1 — 0 5 —
JF—I SHCYa=7 i BERYr—957 wa| 15| K| 2w
[ - . 12 O 13 o
SHCY1=7 5L FYIR 512 - J]0 - 2], 3[3[4|-1]|2
52 0 — 1 — 1
L, 12 [ ) 23 [ )
Wi (11— 2], 019 = 7lis ol1[15[-14 3
EHE 0—0 0 — 6
J— —_ 13
BRHRYT—957 5 = AP PR 6 (16| 1 15| 1
3 113
L2 1 — 1 6 —
K7—IL H1pYky A r—45T | BUoT Echizen HOMES2| INE BTy —SAER wa| 12| | 2 | me
HIYrlr—557 TR R
Tz - 010 = 410 3|7]10]-3] 2
BiRE 5 — 0 — 6
%2 Echizen HOMES2|-—@ @
NEEEE NEEET 0|0 |26[-2/3
BHE 0— 5 0 — 10
NERy s —2A—y bSO = O
1014~ % ol1el? — 6 29/ 0 [29]1
AR 6 — 0 10




